Table S1. Data for starting and finishing time of shrinkage and expansion for different cultivar-irrigation
levels in 3 consecutive example days (from 228 to 230 day of the years (DOY)). The ending time of
Expansion is on the next day. Arb(DI-10) represents average data of two fruits of ‘Arbequina’ at 10% deficit
irrigation. Lea(DI-10) represents average data of two fruits of ‘Lea’ at 10% deficit irrigation. Asc(DI-20)
represents average data of two fruits of ‘Ascolana dura’ at 20% deficit irrigation. Asc(DI-0) represents data
of one non-irrigated fruit of “Ascolana dura’. Fal(DI-20) represents average data of two fruits of ‘Piantone
di Falerone’ at 20% deficit irrigation. Fal(DI-0) represents data of one non-irrigated fruit of ‘Piantone di
Falerone’.
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Figure S1. Continuous measurements of diameter of olive fruit in two example days of the experiment: (A)
fruits with normal growth pattern in day of the year (DOY) 225; (B) fruit with exceptional growth pattern
during rainy day (rainfall at beginning hours of the day) in day of the year (DOY) 236, in addition, it was
the day after heavy rainfall. Arb1(DI-10) and Arb2(DI-10) represent fruit 1 and 2 of ‘Arbequina’ at 10%
deficit irrigation, respectively. Leal(DI-10) represents fruit 1 of ‘Lea” at 10% deficit irrigation. Asc2(DI-20)
represents fruit 2 of “Ascolana dura’ at 20% deficit irrigation. Asc3(DI-0) represents fruit 3 of non-irrigated
‘Ascolana dura’. Fal1(DI-20) and Fal2(DI-20) represent fruit 1 and 2 of ‘Piantone di Falerone’ at 20% deficit
irrigation, respectively. Fal3(DI-0) represents fruit 3 of non-irrigated ‘Piantone di Falerone’.
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Figure S2. Daily variation of fruit diameter from 227 to 234 day of the year (DOY) and from 257 to 262 day
of the year (DOY). (A) cultivar of Arbequina in the first and the second irrigation days; (B) cultivar of Lea
in the first and the second irrigation days; (C) cultivar of Ascolana dura in the first and the second irrigation
days; (D) cultivar of Piantone di Falerone in the first and the second irrigation days; (E) cultivar of
Arbequina in the third irrigation day; (F) cultivar of Lea in the third irrigation day; (G) cultivar of Ascolana
dura in the third irrigation day; (H) cultivar of Piantone di Falerone in the third irrigation day. Arb1(DI-10)
and Arb2(DI-10) represent fruit 1 and 2 of “Arbequina’ at 10% deficit irrigation, respectively. Leal(DI-10)
and Lea2(DI-10) represent fruit 1 and 2 of ‘Lea’ at 10% deficit irrigation, respectively. Asc1(DI-20) and
Asc2(DI-20) represent fruit 1 and 2 of “Ascolana dura’ at 20% deficit irrigation, respectively. Asc3(DI-0)
represents fruit 3 of non-irrigated ‘Ascolana dura’. Fal1(DI-20) and Fal2(DI-20) represent fruit 1 and 2 of
‘Piantone di Falerone’ at 20% deficit irrigation, respectively. Fal3(DI-0) and Fal4(DI-0) represent fruit 3 and
4 of non-irrigated ‘Piantone di Falerone’, respectively.



0.05 0.05 14

Arb1(DH10) Bl s —— ADIDI0) = e

-—~ Arb2(D-10) ——— AD2(DI10) 12
0.04 4 —— Leal(DI10) 0.04 4 Lea1(DI-10) -
Irigation === Lea2(DI-10) €
) g — [} Irrigation 10 g
a 5 = £
T 0.03 1 E S 0.03 1 £
N = o = I
; 5T ¥
8 002, 8 8o .-
5 E s B
w (] - 4 gm
L 2 0:01 =T E

F2

8:88 ‘ ‘ : ‘ : —fo 882 1 0,

Asc1(DI-20, D
—— As2r20) (8 | T AZ§2§D|.203
o044  m===== Ast3(DI-0) 0.04 | ——— Asc3(DI-0) 12
————  Fali(DI20) - - Fal1(DI-20)

e | ¥ g Fal2(D1-20) Fal2(DI-20) =
= e ———- Fa3py 6 F o Fal4(DI-0) r10 g
E ; Irngation E : 0.03 A Irrigation =
© c = I Rain Lege B
§ 4% 2 E
T 0.02 1 = = b
2 .g 2 6 &
& = @ 5
0.01 1 2 la E

F2

0.00 0
227 228 229 230 231 232 233 234 0

Figure S3. Standardized Fruit daily diameter fluctuation (AD). From 227 to 234 day of the year (DOY) (in
correspondence with first and second irrigation days) for the olive cultivar Arbequina and Lea (A) and for
the olive cultivars Ascolana dura and Piantone di Falerone (B); From 257 to 262 day of the year (DOY) (in
correspondence with third irrigation day) for the olive cultivar Arbequina and Lea (C) and for the olive
cultivars Ascolana dura and Piantone di Falerone (D). Arb1(DI-10) and Arb2(DI-10) represent fruit 1 and 2
of “Arbequina’ at 10% deficit irrigation, respectively. Leal(DI-10) and Lea2(DI-10) represent fruit 1 and 2 of
‘Lea’ at 10% deficit irrigation, respectively. Asc1(DI-20) and Asc2(DI-20) represent fruit 1 and 2 of “Ascolana
dura’ at 20% deficit irrigation, respectively. Asc3(DI-0) represents fruit 3 of non-irrigated ‘Ascolana dura’.
Fal1(DI-20) and Fal2(DI-20) represent fruit 1 and 2 of ‘Piantone di Falerone’” at 20% deficit irrigation,
respectively. Fal3(DI-0) and Fal4(DI-0) represent fruit 3 and 4 of non-irrigated ‘Piantone di Falerone’,
respectively.
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Figure S4. Height of hysteresis curves from 227 to 234 day of the year (DOY) (in correspondence with first
and second irrigation days). (A) fruit 1 and 2 of 'Arbequina’ at 10% deficit irrigation (Arb1(DI-10) and
Arb2(DI-10), respectively) and fruit 1 of 'Lea' at 10% deficit irrigation (Leal(DI-10)); (B) fruit 1 and 2 of
'Piantone di Falerone' at 20% deficit irrigation (Fal1(DI-20) and Fal2(DI-20), respectively) and fruit 2 of

‘Ascolana dura’ at 20% deficit irrigation (Asc2(DI-20)); (C) fruit 3 of non-irrigated 'Ascolana dura' (Asc3(DI-
0)) and fruit 3 of non-irrigated 'Piantone di Falerone' (Fal3(DI-0)).



